71 Gear KRRCHER

Professional \ Sweepers \ Ride-on \ Combustion engine \ KMR 1050 B \ Spare parts list KMR 1050 B \ Transmission \ Gear

Valid on 08.12.2023 Page1l/3



71 Gear

Professional \ Sweepers \ Ride-on \ Combustion engine \ KMR 1050 B \ Spare parts list KMR 1050 B \ Transmission \ Gear

KARCHER

POS
22

43
33
55
23
36
35
42
39
50
15

24
24
16
31
29
34

27
12
26
21

40
41
45
44
38
46

Article no.
7.401-091.0
4.401-198.0
6.316-054.0
6.310-020.0
6.412-710.0
6.432-093.0
6.437-457.0
6.401-231.0
7.462-013.0
5.332-087.0
7.304-454.0
7.311-004.0
7.311-006.0
7.343-015.0
7.343-232.0
7.343-151.0
7.343-302.0
7.318-032.0
6.432-100.0
7.306-090.0
7.306-133.0
7.303-068.0

5.019-747.0
7.777-999.0
7.777-999.0
7.777-999.0
7.777-999.0
7.777-999.0
7.777-999.0
7.777-999.0
7.777-999.0
7.777-999.0

Valid on 08.12.2023

Description

Ball bearing 6000-2RS -WAELZLAGST DIN 62
Ball bearing 6202-2RS -Walzl.St DIN 625
Bolt

Cage nut M 6

Cap valve

Chain wheel

Differential axle

Flanged bearing

Fork head G8x32 -St-A2E DIN71752
Helical spring

Hexagonal head screw M 8x100-8.8-A2E IS
Hexagon nut M8 -8-A3E ISO 4032
Hexagon nut M10 -8-A3E ISO 4032
Locking ring 15x1-FST-RF DIN 471
Locking ring 26x1,2-FST-PH DIN 472
Locking ring 28x1,2-FST-RF DIN 472
Lock washer 8 -St-ph DIN 6799
Parallel key 6x6x32-C45K DIN 6885
Roller chain

Screw M6x16 -8.8-P2R (In6Rd)
Screw M6x50 -8.8-R3R (In6Rd)
Screw M8x20 -St-R3R (In6Rd)

Shim ring 8x14x1-St2K50 DIN 988
Slide bar

Stockpiling discontinued

Stockpiling discontinued

Stockpiling discontinued

Stockpiling discontinued

Stockpiling discontinued

Stockpiling discontinued

Stockpiling discontinued

Stockpiling discontinued

Stockpiling discontinued

Quantity Unit
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC

P A P N N MR NP

=
N

P A NN KFEF P FP P NPFEFNMNWDPPBEDNNNNNP

Page 2 /3

valid from valid until
10203
10587
10586
10586



71 Gear

Professional \ Sweepers \ Ride-on \ Combustion engine \ KMR 1050 B \ Spare parts list KMR 1050 B \ Transmission \ Gear

KARCHER

POS
48

49
52
53
38

20
14
19
18
17
36
28
30
30
13
32
11
10

54
25
37
47

Article no.
7.777-999.0

7.777-999.0
7.777-999.0
7.777-999.0
7.777-999.0
7.777-999.0
7.777-999.0
7.777-999.0
7.777-999.0
7.777-999.0
7.777-999.0
7.777-999.0
7.777-999.0
7.777-999.0
7.777-999.0
7.777-999.0
7.777-999.0
7.777-999.0
7.777-999.0
7.312-160.0
6.412-709.0
7.312-003.0
7.312-004.0
7.312-005.0

Valid on 08.12.2023

Description
Stockpiling discontinued

Stockpiling discontinued
Stockpiling discontinued
Stockpiling discontinued
Stockpiling discontinued
Stockpiling discontinued
Stockpiling discontinued
Stockpiling discontinued
Stockpiling discontinued
Stockpiling discontinued
Stockpiling discontinued
Stockpiling discontinued
Stockpiling discontinued
Stockpiling discontinued
Stockpiling discontinued
Stockpiling discontinued
Stockpiling discontinued
Stockpiling discontinued
Stockpiling discontinued

Toothed lock washer A10,5-FSt-A3E DIN 6797

Valve

Washer 6 -200HV-A3E ISO 7089
Washer 8 -200HV-A3E ISO 7089
Washer 10-200HV-A3E I1SO 7089

Page 3/3

Quantity

N U W N D R B N RRFBRRBRRBNRRBRRBNOONNN R

Unit
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC

valid from valid until
10587
10204
10204
10203


http://www.tcpdf.org

